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When you are directed, open the top seal of Test Rooklel.
take out the Answer Sheet and fill in the particulars
carefully with blue/black ball peint pen only.

The test 35 of 120 minutes duration and consists of 130
objective type questions. Each question carry 2 marks
for correct answer. 0.5 marks will be deducted for each
WOrng ANSWEr.

Use BRlue/Black Ball Paint Pen only for writing
paiticulars on this page and marking responses in the
Answer Sheet.

Make sure that the Tes! Booklet No. and S
by you on the Answer Sheet is the same ¢
Bonklet,

Rough work shauld be done only in the s
in the iest Booklet,

The answers are to be recorded on the OMR Answer
Sheet anly. Mark your responses carefully, No whitener/
eraser/ Blade is allowed for changing answers.

Adier opening the Test Booklel, please immediatcly
ensure that the Test Booklet contains as many number
of pages as writien on the top of this page. Also ensure
that nv page or question is misprinted, tom or left blank.
It'any discreparcy is found in test Booklet, show it to
Invigilatar and get it replaced with wst booklet of same
5CTICS
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Ql

Q2

Q3

Q5

Q6

General Knowledge

is NOT appointed by the President
of India?
(A) A Judge ofa High Court
(B) The Advocate-General
(C) The Governor
(D) The Attorney-General

Name the first Indian siate where every
household has at least one member having a
bank account.

(A) Maharashtra

(B) Haryana

(C) Himachal Pradcsh

(D) Kerala

Select the duct which takes the urine out
from the urinary bladder to the outside of
the body.

(A) Urecthra

(B) Ureter

(C) Bladder

(D) Renal pelvis

National Education Day is celebrawca vn
CYCI’)’}'CQ[‘.

(A) 27th October

(B) 4th March

(C) 17th September

(D) 11th November

The GST Act was enacted by Parliament vide
the  Constitutional Amendment Act,
2016 on 8th September 2016.

(A) 97th

(B) 84th

(C) 101st

(D) 114th

Which of the following districts belangs to
the Bundelkhand region of Uttar Pradesh?
(A) Fatehpur

(B) Jaunp

(C) Mahoua

(D) Shravasti
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Q3

Q5
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....................... #F Pofaw ama & Il
gRT TH @ 87
(A) TeaaW Rty & ~amee

| (B) #eneedar |

(C) IrauTd
(D) mEFITIaat

gIe gRar i 9 § F4 b wow D U

HH—TTT & |

(A) HBRTE

(B) s

(C) Remer wow
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(A) B
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(A) 27 rEEa

(B) 4 wrd

(Q) 17 Ry

(D) 11 da%
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Q12

The area of Uttar Pradesh is approximately
_of the toral area of the country.

(A) 13.5%

(R) 04%

(") B4%

(D) 73%

During the sixth century BC. the area around
Mathurs was known as

{A) Panchal

B Ang

(") Ehursen

11 Matgya

Which ramantic-poetry writer nas well
known for s work entitled “Madnastak™?
(A) Rahim

(R) Malik Mohmmad laist

() Zia-ud-din Barnt

(DY Snltan Froz Tuehlag

Wha wace the editor of 1ltar Pr
daily newspaper “Hindustan™ f
18877

(A) Mahabir Prasad Dwivedi
(B) Padumlal Punnalal Bakshi
(C) Madan Mohan Malviva
(D) Bhartendu Harish Chandra

In which year was it made lezally binding to
use Hindi in all official works in Uttar
Pradesh?
(A) 1947
(B) 1957
(C) 1968
(D) 1977

Which of the following was a major painter
at Akbar’s court?

(A) Mir Musavvir

(B) Dost Muhammad

(C) Daswanth
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(A) 13.5%
(B) 9.4%
(C) 8.4%

(D) 7.3%
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Q14

Q135

Q16

Q17

Q18

Was a prominent musicians ol
Faizabad who developed the Tappa style in
classical music.

(A) Mustaribai

(B) Khushi Maharaj
(C) MehndiKhan
(D) Thakur Prasad

Which of the following isa popular folk song
of Bundelkhand?

(A) Birha

(B) Alha

(C) Rasia

(D) Languria

Which of the following rivers jains the
Karnaliriver at Brahmaghat in India and form
the Ghaghara river?

(A) Rapti

(B3) Gandak

(C) Sharda

(D) Sarayu

Which of the following minerals is als
known as " Yellow Cake™

(A) Plutonium

(B) Uranium

(C) Thorium

(D) Aluminum

Which of the following celebrities received
India’s second highest civilian award in 20187
(A) Ghulam Mustafa Khan

(B) Sharda Sinha

(C) MS Dhoni

(D) Pankaj Advani

Who was recently appointed as the first
Director-General of the National Testing
Agency(NTA)?

(A) Rajesh Kumar Chaturvedi

(B) "loseph Emmanue!

(C) AmtaKarwal

(D) Vineet Joshi

s TINEIG @ Q@ Y4 HYIODIN ¥
ol aretia il & can 9ol @ s
)

NECRER|

(B) 2 wETE

(C) A& @

(D) AT Ta=

Freafifad 4 9 qdags w1 drafuy
wAE T P ot B

(A) e

(B) Al

(D) I

=T 8 90 & W 48] "e 1 geyare o
FATAl A4 @ el & 3R greRy G4 ad
T 87

(A) wreh

(B) sd

(") 9INET

[
& g wfor @ den S
dec B?

(A) geifrm

(B) fam

(C) 2TNAH
(D) veyAfrEm

- QI17\ f= 9 fg fewee @rfdn 4 2018 § e

e N1 Ha) a@ iRl FHIM urd fhar?

(A) el HIH LT

(B) el ¥5l
(C) T ¥ arfl
(D) Yepw e

T TWET o (UE € U) & Ued
HE U ® yg 9% F1a7 8§ 4 fagd Mzfao
gd a7

(A) T HEN TS
(B} WRIH THAGUE
(C) T =BTl
[(D) faha wi |
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2018, [(a) feanr &1 st | s
(A) Riode laneirn (B) &4 a4

(B) BuenosAires (C) aframr Rid

(C) Mexico Cily (D) ?ﬂ?ﬂg?f

(D) Istanbul

Q20  In 1825, who founded the Vedanta College Q20 1825 ¥ TgiAT Bicial @1 TG = @,

in which courses both in Indian learning and fored Qi ardla ez sl TreETE
in Western social and physical sciences were R e iR R e e ¢
offered? fom Tz an?
(A) Aurobindo Ghosh (A) 3pfdaT @w
(B) Ram Mohan Roy |(B). =W wTEs D] |
(C) Ishwarchandra Vidyasagar (C) gyavds [dendiy
(D) Swami Vivekanand (D) xarfl fadorig
Q21  Which of the following country is known as Q21 P 4 @ fow <o ® uwa oM @Er 2
Ceylon in Past? AT er?
(A) Maldives A) Weldd
(B) Sri Lanka w
(C) Mauritius (©) wroe
(D) Suriname (D) I
Q22 India’s distance from Europe r 1869 H oo 1Y D T T ARG |
7,000 km by the opening of canal in a9y @1 g 7,000 frEer T 81 TS |
1869. (A) T
(A) Panama (B) @<t
® K
(C) Sucz (D) alAT—=2

(D) Volga-Don

Y03 | wrore e 2018 @ W= @ R IR
¥ ¥ U g AR vl 97

Q23  Who was one ofthe chief guests ofthe 2018
Republic Day parade?

(A) Bidhya Devi Bhandari (A) Rem ed ¥sm

(B) Maithripala Sirisena (B) #iaren R
(C) Sheikh Hasina (C) ¥Rg &

D) Aung San Suu Kyi =T W G W
(D) AungS y ~ (D) %

024  Which of the following e-commerce Q24 | Py 3 2 form S @l + i) e
companies has signed a pact with @ R# & 27 Sev ueY AR 9
Government of Uttar Pradesh for the sale of U IR W aEeER fBu &

Khadi Products? (A) fravare
(A) Flipkart [B) w1uda |
(B) Snapdeal (C) IFo ghadl
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Q30

Which of the following was a seientist as well
as a great industrialist who founded many
industries in India?

(A) CV Raman

(B) JC Bose

(C) Vikram Sarabhai

(D) HomiJehangir Bhabha

Who is the author of the baok “A Better
India: A Better World™?

(A) Kiran Bedi

(B) NR Narayana Murthy

(C) Sudha Murthy

(D) Shashi Tharoor

Who among the following players, was NO'T
involved in the ball-tamperiag issue of the
recent South Africa-Australia Test Series in
20187

(A) David Warner

(R) Steve Smith

(C) TimPPaine

(D) Cameron Bancrofl

The boiling point of water in Falenhen is

(A) 100°F
(B) 212°F
(C) 150°F
(D) 244°F

Which of these is NOT a plantation crop?
(A) Coffee

(B) Tea

(C) Cashew

(D) Millets

By which other name is the pulse “tur” also
known as?

(A) Arhar

(B) Jowar

(C) Masoor

(D) Ragi

Q25

Q26

Q27

Q28

Q29

Q30

91 9 wTE e dSilF® B1F S HR
od Fei STl 8 9 Rl e #§ B
SET 90 e e

(A) ¥ 41 T

(B) W & A

[(©) P sann |

(D) = TR AT

¢ dew g v Ay o T @ Aaud
HiFT B
(A} for ady

[(8) v @ sy 7l ]

(C) HeT A
(D) 5% 4

‘RS i e
.;;{f" A e T e
jos : TE 3
(B & e
[y feq U |
T TeimT
TRMEGE § T o SR i
i i B ¢
R aTs 2t < |
e+ ]
{A) LGOTF
T L, MO e e = L
Sl 8 S A &) S OwERT T 97

(A) o
1B) @
(L =l

(135 Wd i

el b A e A R ST ST 87

EIECE
{C) =N
(D) wpft
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Q32

Q33

Q34

Q35

Q36

Alan is used to measure e force
and velocity of wind.

(A) speedometer

(B) lactometer

(C) thermometer

(D) anemometer

When is National Hindi Day obscrved in
India?

(A) 14" September

(B) l4%November

(C) 14" December

(D) 14" June

Article 6 of The Universal Declaration of

Human Rights deals with the

(A) Rightto Recognition asa Person before
the Law

(B) Right to Remedy by Competent
Tribunal

(C) Freedom from Arbitrary Arrest and
Exile

(D) Right to Equality before thev

Where arc the headquarters of the ivauona
Stock Exchange situated?

(A) Chennai

(B) Delhi

(C) Mumbai

(D) Bangalore

The Union Governmentof India has decided
to declare 2018 as National Year of

(A) Fruits

(B) Pulses

(C) Potatoes

() Millets

The is a colourful and mesmeric fair
which is held a few days after Holi, every
year in Meerut in Uttar Pradesh.

(A) Kumbh Mela

(B) Nauchandi Mela

(C) GangaMela

M Qilewi MMala

Q32

Q36
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FE I U AT Pt LR Sl IR LA b s ane e s ais o

(A) Archimedes

(B) Alexander Fleming
(Cy Alexander Graham licll
(D) Louis Pasteur

~ oftheConstitution of India provides
a list ol efTicial languages of the Republic of
India.

{A) The Eleventh Schedule

(B) The Fourth Schedule

(C) The Twelfth Schedule

(D) The Eighth Schedule

Sl

(A) 3PS

) sdaisy wifin |
(C) SITTIUISY YT e
(D) <g TR=R

Q38 R TR B T IR
@ anfoepis Al o gl v wh
2l

(A) TIREdl ATl
(B) =Rl ST
(C) aRRd! IR
(D) H1edl 3rTgdl

General Hindi

gt gr g T 8| - @ifda e w

gl e TE B
| (ayawa |

(B) o
(©) &
(D) e

& oy =i ) w=e Al ARy | Yaiiche

JaEq |
(A) VI
EE]

(C) arurfzs
(D) Rrasr &8 2 &

TAmfeia g&] 4 9 SF -1 7= 3ord
TRl 87

LA) @dd

(B) ard

C) HEdR

RAFpT TR AR © & — O forn Uo 8
I BITL

[(A) s |

(B) €MH®

FITRORNS

Q43  @H-w uier wFadl fRie 82

| (A) dr@ter — 3@ |
—

-
BIGEE

Q44 =i gfafas It FHEpN G TIfey | @it
9 Hl ygdify |
(A) woa
(©)
(D) BR®

Q45 ey — &g H B U &P

= X BIW

(C) 34

(D) @

1~

Q46 _uft + 3murd &1 G S9 @ 81917
(R yarard
(B araaeTd S
(C) wchramean
(D) weliameTd
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(A) drs

£B) arer
(C) wrar
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Q63
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Q65

Q66
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F | QURIREER @r @l T B |

B) sRaaE dowmaa |

(C) gHgR HINell

(D) vATE AT

wrysT @ zafen B 7

[(A) sgiaR g |

(B) weredl aHt
(C) e B

(D) GEFFET Ud

- TaT gEdaRl 1 el 87
TS EGER]
() Teraed

wwlia HI-TT

Numerical & Mental Ability

()76  Rashid can complete a job by himselfin 13
days while Kausik can do the same work
alone in 21 days. If they work together how

many days will it take them to complete the

work?

3
g7
(A) i

|
r q-_
B 77
(& e
©) ¥,

..
(Y

Q76
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Tire ) Fe @) arder 15 AT F Q-1 oX
Tl 3 At e @7 odl dId Bl W
e § 21 B Rt | OB W BT
S BT SRl B1F B g e H [
f2eq o @A B2

3
8-
() 8,

1
oL
(B) 73

() 85

3
®) 97
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Q77

078

Q79

A ship developed a leak 15 km from theshore Q77
and yet could travel towards the shore at a
speed of 10 km/hr for a maximum time of
18 min. A rescue vessel that was immediately
sent from the shore to rescue the passengers
would take 6 min to complete the rescue
once it reaches the ship. What should be the
minimum speed of the rescue vessel inorder
to be able to successfully evacuate everyone
onboard the ship?
(A) 72 km/hr
(By 70 km/hr
(C) 68 km/hr
(D) 63 kin/hr
The length of a side of an equilateral triangle Q78
is 21 cm. what would be the approximate
areaofthe circumeircle of the above trian
22
[Use m= £l ]
(A) 154 .[3 e’
(B) 462 /3 e’
(C) 462 cm’
(D) 484 cm’
Zubin and Pravin can individually complete Q79

a job in 36 min and 60 min respectively.
Starting with Zubin, they work alternately
for a minute each till the work 1s completed,
only the one working at the end allowed ©
work for less than a minute 1n his final turn.
How long will it take the duo to complete
the job?

(A) 45 min

(B) 4 min48s

(C) 44mind5s

(TN A5 min 17 ¢

ac W 15 fhelMIey B g W fHH TR
A 68 9= g T geg e o erfreen
18 [ @l o@fy dé 98 Jisrd. v
frarier /ufa U2 & dull O @@ @) 4
A @ Uebell off | de & A S| dred
T AT B, SIS b Gge & a8 M
el gg we] 6 fAve oA | oTErs O SufRer
Wil @it @1 hdyde FaeE & fag
q91d A/d &1 “gFaa i @ e afeg?

(A) 72 Rreries /e |

(B) 70 forettiies / uc
(€) 68 fFei™ ez /ud
(D) 65 fbeiifie / v

G yHaTg B & uh gor & T4y 21

- FPes 31 and faaer & alge

T el BITT?
2 3 .
5 &I JAT an |

(A) 1543 Téres
(B) 462 /3 @

(C) 462 ey

(D) 484 HEHIET

Sffa sl wdlor & 7er g6 MAe SR 60
fre 4 fsfl o/ @1 R @ Hal §
T 9 gw @ B a B g BN A,
Joofead w9 3 up e dq @ axd &
ST 7 T e dTel Y & A S a1
¥ um e & 9 @y &g am ol ol
SR Wi B G-l ol i g e
[T dHa e

(A) 45 fiFe

B) 44 4 48 d&hs

(C) 44 fi-e 45 Ybe
(D) 45 fiFe 12 s
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Q80 Govinda usually leaves his home every day
at 8 am and travels at a certain speed to reach

4

5 of

the usual speed and hence arrived 22.5 min

late. How much time does Govinda usually

take to reach his office?

(A) 1hr5min

(B) 1hr20min

(C) 1hr25min

(D) 1hr30min

office on time. One day, he travelled at

Q81  Select the option that is related to the third
term in the same way as the second term is
related to the first term.
Saffron : Spice :: Apple :
(A) Vegelable

(B) Fruit

(C) Stem

(D) Root

Q82

*Saliva’ is to ‘Salivary Glands’ ¢

L 3

(A) Stomach
(B] Liver
(C) Pancreas
(D) Lungs

_ 'isto ‘Celsius’ as ‘Mass’ is to
“*Grams”.

(A) Heat

(B) Humidity

(C) Energy

(D) Temperature

Q83

Q84 In a certain code language, MUMBAL is
written as NTNABH. How will KANPUR
be written as in the same language?

(A) IBMQTS
(B) NAKRUP

© (C) LZOOVQ

(D) LBOQVS

J

Q84

Qg0  Tifdar wmra: ufey faw ares aR W YuE ¢
o ravaran & o 9 W ST UgT
#q fftea R ux A oxan &) 1

a8 M (R T & f;- RIS e

@l & 3R 2250 M @ a8 ¥ agam
2| Era MiE @ Pt uge |
Rper wd ST 87

(A) | HeT 15 fiFre

(B) | ser 20 e

(C) 1821 2512

[(D) 1 g1 30 Fic]

g9 RAreeg & wge 79 ) AN ue 3§ 99
g Hafe § RRT UEHR T T8 B T4
I HafErT B

GER AT ¢ ¥4
A) Tl

(C) d

(D) urs

Fxil

EEiIRERS
2l

TR F A R aREl g,

(D), %S

B i | e AR ¥,
YR G’ &7 AddAd U B |
(A) arfear
(B)
(C) ol

apre vs fifdaa Gda—ame W, TR
MUMBAI &1 NTNABH foran smar €, ar
97 KANPUR @1 o @rs § @ foram
argE?

(A) JBMQTS

R) NAKRUP

I(C) LZOOVQ |

(D) LBOQVS
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Q86

Q87

Q83

Q89

Q90

LARD 13 ICIALCU bU WV B LLIC dallio Wﬂ-)
as ‘[ce-Cream’ is related to * ;
(A) Filter

(B) Non-stick Cookwarc
(C) Refrigerator
(D) Cooker

*Meghalaya’ is related to ‘Shillong” in the
same way as ‘Nagaland’ is related to

(A) Daman

(B) ltanagar

(C) Kohima =
(D) Dispur

100" isto “Century’ as " 10" isto*
(A) Ten

(B) Fortnight

(C) Week

(D) Decade

What will come next (in place of °7’
given series?

D4X24E5H8T20L.?

(A) 18

(B) 26

(C) 12

(D) 7

How many ‘M’s arc immediately preceded
and followed by ‘N’ in the following series?
MNNMNNMMMNNNOOMMM
MNNMMMTTMNMNMNMN
(A) 3

(B) 3

©7

(D) 4

What will come in place of the question mark
(*?°) in the given series?

© 21U13M22VIRRYS

(A) 22
(B) 25

Oy 10

FO
\(/

7

Q86

MAME L AN N WAL AMAN MMM @

(A) fheee

(B) TH-Re® ®Hhdar

(©) fhuner
(D) BT

T, et 9 ot gEr g5l @ faw

/ YHR ATTAVS, o 0 wERE g
(A) T

G

100" T HIlg ¥KTd 8, g3 YbMH 10° F
(A) &1

(B) e

C) Tams

TR o A () B WM W P
=1 HgA?

L 24ESHST20L?

(A) 18

(B) 26

(D) 7

l};/ﬁmﬁqﬁa sjaar 3 fBra MO € Rraa

Q90

T uFd 3R T A F N B
MNNMNNMMMNNNOOMMM
MNNMMMTTMMM_N%N 37

(B) 5
)7
(D) 4
IgEHH H (‘2’) D WFE R® B
e gy
21U13M22V18R?S
(A) 22

(B) 25
(C) 19
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QoI

Q92

Q93

Q93

If GOOD = 41, then BAD =1
(A) 6
) 12
7
(D) 10

IFACTIVE = 60, then PASSIVE —?
(A) 100
(B) 80
) 91
(D) 55

If in a certain code. Silk is written as

1991211, then what will Cotlon be written

as in the same code?
(A) 31514152020
(B) 35201201514
(C) 32015132014
(D) 31520201514

A clock is showing the time 1:40. If the
minute hand points to South-West, in which
direction does the hour hand point?

(A) North-East

(B) South

(C) North

(D) South-East

Amal and Subir were standing face to face
in the evening and chatting, Their shadows
were in front of Subir, Which direction was
Amal facing?

(A) East

(By West

(C) North

(D) South

afz GOOD =41, @ BAD="?
(A) 6
(B) 12

(D) 10

f ACTIVE =60, ar PASSIVE =?
(A) 100
(B) BO

(D) 55

ufe wp fFffag deT-fra 4 s Silk’
ol ‘[i)all'ﬁ H:f%ﬂﬁ’l' JTer &, & 98 ‘Cotton”
77 s ors 1 S ferar SmgE?

(A) 31514152020

(B) 35201201514

(C) 32015152014

520201514 |

wusr uol 1:403@@(1‘?‘%’11"&@@%&1’3
P 1 o <R TR B i e
ol & 1 ae B qE P R @ 3w
g Bl?

(A) SaR-—Td
(B) =férr

(C) SwR

(D) aftwr — @

Jve SfR AR WM B X TF TR D
AT @S B1aR a1 BY < | SIS BT
e b ame o | o R R i sk
ig #a Wel ur

(A)

@) R

(C) ¥R

(D) <f&or
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97

6 Consider the given statements to be true and Y6 16U 9IY n Y IGUIR WX DY, Tty
decide which of the following conclusions ST @Al F TORIETS B g U U
logically follow(s) from the two given F fh e A § P-4 FAspd a7 &Y 1Y
staterments. disregarding commonly known @) ol BT TEETE S A g HT B |
facts. H
Statements: FB P BN & |
Some Crows are pigeors. ol IR AN |
All the pigeons are peacocks. freps:

Conclusions: . |0 B AR T
. Some crows are peacocks. I O AR B w0
1I. No peacock is pigeon. [(A) @aa Frepd | o= B €
(A) Only conclusion I follows. (B) NEIGE]
(B) Only conclusion 11 follows. (C) = air Forepd 1 o =i & et 1l T
(C) Neither conclusion I nor 11 follows. el B |
(D) Both conclusions [ and I1 follow. (D) fepd 1 sl Fresd (1 T @ e
F € |
Consider the given statement and the Q97 Ry T 9T IR Prefafad Rt o
following assumptionsto be true and decide w4 wwEl AR R d [ oy A @ w
which of the assumptions is/are implicit in YT/ EROTY gafifea 2/
the statement. GIEH
Statement: Golf & i—adraxeiz Bl @ e 916l
Save non-renewable sources of energy for @ fog g=md |
the next generation. N0
Assumptions: 1 amrey i) 3 Uty Fwil B B
1. The next gencration will have n : |ra 8] &
renewable sources of energy. ot & -7l 9 g
IT. If non-renewable sources of energy ge I8 WY arell Ol 3= WA
exhausted, the next generation will not B A ane A ERT ol e @
be able to use them and will ave 1© R N | 890
think of alternatives. (A) Sad uRv | Satifed 81
(A) Only assumption | is implicit [(B) Fawt aren li s 1]
(B) Only assumption IT is implicit. (C) =T F &wom [ A1 & sfafifea
(C) Neither assumption [ nor I1 is implicit. g1
(D) Both assumptions I and II are implicit, (D) SITROT 1 37 eRoT i aiafifEa
Consider the given statement and the Q98 Ry Wy w3y e smeonsi ®r

8

following assumptions to be true and decide
which of the assumptions is/are implicit in
the statement.

Statement:

Like poles repel each other; unlike poles
attract each other.

Assumptions:

I.  Magnetic objects of similar pole repel
cach other.

1. Peaple of opposite nature remain more
intact.

(A) Only assumptionl is implicit.
(B) Only assumption 1l is implicit.
(C) Neither assumption I nor IT is implicit.

HE aAsl 3w foig o fb aue H @ Al
HROT / HROMG StafifEa &/81

hY:
YW g9 TP g D ADRT PR &
RIS 47 T G o i #d £

ETROTC:

1. Horda ga @ gee TN b TR

11 d b ST
¥

(A) @ad emeom | aicfiEe 2|

(B) Daw wrem [1afaffRa 21

(c)g?ﬁmmlmﬁm@ﬂllmﬁﬁ
|

M s 1Aty s 11T siatiRa 21
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Q99

Q100

Q101

Q102

Q103

Which of the following is NOT acomposite
number?
(A) 133
(B) 433
(C) 533
(D) 833

Select the most appropriate option to solve
the equation.

105+15x(38—-8+5)+3=

(A) 7

1
®) 3,
<) 14

’ 1
(D) 102

Select the most appropriate option to solve
the equation.

1.8+1200=

(A) 0.15

(B) 0.015

(C) 0.00015

(D) 0.0015

Select the most appropriate option to solve

. H. 33N
the equatio! Srai Ty
) 3%

7
®) 71
1
©) 3—l
2
() 2=
3

What is the HCF of 54, 162 and 189?
(A) 27
(B) 9

Q99 Fr=fafaa ¥ @ FF W AFe sy 10104
(@rfee Faz) 78 &7

(A) 133
(B) 433
(C) 533

(D) 833+

Q100 Frerioiaa W@ & wad Sfaa

foepTel |

105+13x(38-8+5)+3=

(A) 7

]
(B) 33
(©) 14

1

Q101 forfafta wiswor o1 @ Faer &g
walfle Sfad fdey & 997 |

1.8+1200=

(A) 0.15
(B) 0.015

C) 0.00015

Q102 friffRes wiewer o7 &a e ¢
o N_B3
waiftis sfad fase o1 997 o | :Lfﬁ

1
(A) 35

|
T
(B) 3

1
(C) 35

1
(D) 25

Q103 54, 162 Td 189 & HEH GHIYAd

(T=RITE)

(A) 27

™ o
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raur

¥ Q104

Q105

Qiote

Q107

Q108

Q109

What is the | CM of 64, 128 and 160? Q104 64, 128 7T 160 1 WeliH A (UeAHIT)
(A) 320 @ 77
(B) 384 (A) 320
(C) 512 (B) 384
(D) 640 (C) 512
if 84 is divided in the ratio 5 : 9, what is the Q105 2 ga ) 5 : 9 & arpural # faafora fa
greater of the two parts? ' ' T ®, A | T i [ B W AT g8t
(A) 54 O - 1 '
(C) 57 ’ (B) 63
(D) 48 () 57
(D) 48
Ifx: 16::63: 36, thenx= Q106 IME x: 16 ::63 1 36 TN =
(A) 20 (A) 20
(B) 24 B) 24
(©) 28
(D) 30 (D) 30
Rishi secured 66 marks in a test out ¢ © fereft oieT 3 el 75 3@ ¥ 66 IF
What was the percentage of marks obt 7| Y g W afp @1 viaer
by Rishi?
(A) 84 (A) 84
®) 88
() 873 (C) 87.5
(D) 90 (D) 90
Irene suffereda lossof 12% by scllinga mask Q108 8 7 AR @ fAg 308 F o, R
for T 308. At what selling price would she o 12% o @ g | fo wag A
have made a orofitof 10%? F- T 9D (0% BT AT WD A
(A) T296 (A) T396
(B) %363 (B) T363
(€) 2374 (C) T374

Afteradiscount of 15% on the marked price Q109 Haw B e B affdcl qou W 15% 3 BT

of asetofpens, it still cost the buyer ¥ 1,751, g @ve W N WAEER @7 T 1,751 @
What was the marked price of the set of S TpE gl | wEm B Ie B aifea
pens? qod 91 17

(A) T 2,025 (A) 22,025

(B) 2,000 (B) ¥2,000

© 206

(D) % 1,989 (D) T 1,989
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Q110

oI

Q112

QlI13

T 1,800, invested for 5 years at 8% simple
interest per annum, will earn an interest of
. (-

(A) 720
(B) 750
(C) 630
(D) 675

What would be the interest accrued in two
years on T 300 if the sum is invested at 10%
interest compounded annually?

(A) T60.50

(B) T60

(€) Z61.50

(D) T63

Suhas and Nitin invested some money ina
business in the ratio § : 3, but Suhas withdrew
his money after afew months. Ifthe end-of-
twelve-months’ profit was shared be
Suhas and Nitin in the ratio 5: 4, fo

many months did Nitin alone invest?

5

(A) 5g

3
e
®) 63

3
©) 3

5
6=
(D) %

The average marks obtained by 5 students is
55. The average score of the top three
performers out of these five is 63. What is

_ the average score of the other two?

(A) 50

- (R) 45

(€) 40
(D) 35

Latest Sarkari Jobs, Govt Exam Results,

Q10 8% ufay ad o T @TH WY & an &g

QI

7 1.800 1 f a9 &3 T T v BT
AT |

(B) 750
(C) 630
(D) 675

10% ¥ affe dshafy =mel TR 2 a8 @
fore 2300 # e wv s # s areh
& A AR B A @ SeR

(A) T60.50

(B) TG0

(C) T61.30

Q12 HEr 3R AR 71 8 : 3 & Ui ¥ SIER

§ Frftaa aen 2 ¥ & Py @, ovg
o O B g Yerd A wuer A A
T Hun) 2 EET B WA W GERT AR
9 @ AYH H @i 1Y oM &1 I
4 2 W aad ffas A [Fa 98 T8
Byder fiben gwm?

52
(A) 5%

3
(B) 65

3
B
(O 8

5
(D) 5‘[;

Q113 5 frgenRil g ura T @ 3id 55 /1

Vacancies and updates on one click

wor 5 frqaRiaEr 4 & @ @ Rgafer
&1 iIRTT ofd 65 ¥ 1 o9 A1 ReuRiar o
T o/ 9 27

(A) 50

(B) 45

(D) 35




Q114

Qs’

D116

QN7

QL8

- Miental Aptitude, 10 & Keasoning Abihty

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

82:64::92:7

(A) 81

(B) 90

(C) 49

(D) 100

If‘MAT"I:ER’ can be coded as "AMTTRE".
then how would you code ‘LENGTH’?
(A) HTGNEL

(B) EL.GNHT

(C) ELNGHT

(D) ENLGHT

If*"METHOD’ can be coded as ‘EMHT
then how would you code “PRACTIC
(A) RPACITCE
(B) RPCAITEC
(C) RPCATIEC
(D) RPCATICE

In a code language ifMANGO is written as
bGNAM, then what will be the code for
APPLE?

(A) APLPE

(B) APPEL

(C) ELPAP

(D) ELPPA

If "CHANTING" can be coded as
‘HCNAITGN’, then how would you code
‘PINCHING™?

(A) IPNCHIGN

(B) IPCNIHGN

P

Q114

3 [dhed Pl i d¥ O TR g § I
TNE U FEa 8 g ave ¥ gud ug Usd
ag 31 TEfR 2

82:64::92:7

(A) 81

(B) 90

(C) 49

(D) 100

i
\JOI afe @re i #, ‘MATTER® &1 ‘AMTTRE’

Q117

Q118

@ w7 ¥ fawr &1 gaar & @ e
‘LENGTH® @7 e yeRr foadi?

(A) HTGNEL
(B) CLGNHT
(C) ELNGHT
(D) ENLGHT

ot Wy A ‘METHOD' @t
HTDO’ & ®u ¥ forar oil aebdr 8, ar
‘PRACTICE’ ®I fFd YR fordi?

(A) RPACITCE
[(B) RPCAITEC |
(C) RPCATIEC
(D) RPCATICE

gfe ®re T § MANGO #1 OGRAM &
w7 4 fagr s @ df APPLE &1 {1
g o S

(A) APLPE
(B) APPCL
(C) ELPAP

_('D:)) ELPPA

gfe s T % ‘CHANTING' @t
‘HONAITGN'® & 4 3 foram o sdar 8
%, 3M CPINCHING® &1 a1 foreit?
(A) IPNCHIGN

|AB) IPCNIHGN |
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Q119 Speaking to Kamala, Rajesh said “My mother

Q120

Q121

Q122

Q119

is the only daughter of your father”. How is

Kamalarel

ated to Rajesh?

(A) Mother

(B) Aunt
(C) Wife

(D) Daughter

M is the sister of N, R is the niece of M and

Q120

Tis the mother of R. How is N related to T?
(A) Brother

(B) Daughter

(C) Husband

(D) Nephew

Maya is Gopal’s wife. Preethi’s husband,

Naresh has

Q121
a sister, Jaya and a brother, Gopal.

How is Naresh related to Maya?
(A) Father-in-law

(B) Son

(C) Son-in-law
(D) Brother-in-law

Which of the following numbers in the Venn

Q122

diagram shows the soft cotton shirt?

Latest Sarkari Jobs, Govt Exam Results,
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PHAT W & B §U O AT DEl I A
aues fefr &) gopalld 41 B | el @

T et B

M, N &1 a8 &, R,Mer‘ﬁuiaﬁ%am‘r,ﬁa
P F| N E TY R EEd 87
(A) T

(B3 &

(D) STy,

et T & TN # | AR o oy ke e
(At mglaﬁvﬂr% @ & RS T
AT § R TEY B

T 4 e § B W et wwen
Tarr G B A e 87

L]
u

al o

10

1

O sow~
A Lucknow
E Collon__
QO shit




Q123 Find the suitable option for the given Venn
diagram.

O O]
" (A) Family, husband, wife
(B) Peacocks, crow, cocks

(C) Cows, figures, lions
(D) Cats, dogs, frogs

Q124 Whatdoesthe number 3 in the Venn diagram
below describe?

O Cake
[\ sont
D Choeolate

(A) A cake which is not sott

(B) A softcake which is made of cho

(C) A soft cake which is not made of
chocolate

(D) A soft chocalate

Q125 Which of the following numbers in the Venn
diagram represents a warm and rainy day?

! 2
1L

LY

Chill

Foggy
Rai ny Day

Warm

> Nooo

My 7

Q123 Ud a9 AW # Iue Ay &1 wuw
Ead

() aRar, aft, v
(B) AR, @y, Tt

() T, RFrE, I

(D) R gw) Aew

Q124 faEfafeg 9 3 = =< @ ===
femor ey £°

"N

8N
! i 5 % \
‘. %” | |

7H ST R AE &
ffhee ¥ 41T T W S5 |
(C) =T BF S Albcic & TEl FET T

&
(D) ©% “R® Hithele

O =
favkine

[] =iz

Q125 uRd 971 ¥ Freifafae 4 @ a9 @
T Udh NA i gErdl feqa &1
yfafaftca wedl a2

[0 o=

M o)
O T R
=3 =7
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Q126 Whichofthe following options best suit the
Venn diagram given in the figure?

0O
O

(A) English, Tamil, Hindi
(B) Women, mothers, doctors
(C) Passenger, bus, train
(D) Pollution, air, water

Q127 Select the odd one out among the following:
(A) 9876
(B) 8765
(C) 5432
(D) 7653

Q128 Which word does NOT belong v+ ==
others?
(A) Square
(B) Pentagon
{C) Hexagon
(D) Angle

Q129 Which word does NOT belong with the

others?

(A) Sitting
(B) Crying
(C) Standing
(D) Sleeping

Q130 Which alphabetisNOT similer to the others?
(A) A
®B) U
©D
(D) ©

Q131 Which word does NOT belong with the
others?
(A) Earrings
M\ Aracelet

Q126 Wﬂﬁlﬁ!‘iﬁﬁ%&ﬂ?ﬁﬁaﬂﬂmr&m

00

I{A] \.‘n‘:lﬁ?f i, ==t |
(B) AfRell, o, Siaes

() =, T, YL

(D) wEwO, Edi, grl

Q127 F=fafaa & @ wHA SR W TRAA
N |
(A) 9876
(B) 8765

(C) 3432
A1rs Bt N | S W IR 98 W TR
& v 27
A) @i
B) q

(C) "yl
(D) T

Q129 refvfad § € &9 W IR W A wed
2 vadr 87

e

Q130 Pr=fafad # & S &1 = A9 ¥ A= 87
A A

(D) &

Q131 Frefafa T B I 9y W I
8} g 87

(A)
® ¥R
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QI32

Q133

Q135

Which word does NOT belong with the
others?

(A) Edges

(B) Sides

(C) Faces

(D) Vertices

Choose the correct mirror image of the

object given from the choices, when the
mirror is held at A B:

A

e

Answer fipure

| jf|{|

A B
(A) A (B) B
©) C (D) D

Identify the odd pair;
(A) Husband-Wifc
(B) Father-Daughter
(&) Uncle-Niece
(D) Mother-Son

Consider the [our members of this set:
Coconut, Groundnut, Mustard, Corn
Which ofthe choices below can be a part of
the above set?

(A) Cashew nut

(B) Cocua

(C) Olive

M Al aad

Q132 f=foRam & & 919 o v 9w o W

& vgar &7
(A) = g
(C) dds ‘

(M
Q133 Sar fam H ¥ wfifk= o gga@ X 99

festl advr = faw v fymr @ w9 AB R
TET SR

@ ~TTTTLTYCLY P

IR fim

| A B _F D

(A A (B) B

(@) D

Q134 fr=faflas wrg gt A & o W A
B
(A) e

B iLE
(©) - F;?I
{D}“FWT—‘%ZI

QI35 ¥ & W & IR AWl W H
Ry 17 fawedl & & o1 vW & wE D
I B HET B
A) @
(B) ®1&1
(C) ST

(T ATt
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0136 fav 7T AR Aecd A | B Aw &g

Q136 Which of the following options has the
fr w1 wa—ufafar & el 87

correct water image of the picture given
below?

2 @%@

..--::-\\ ; /""“:\
ZONIINZON
2 Q)

\ A/ N OALS
© @é B0 @ WD
Ce~ &8~

Q137 7" & R UY 3 arer e faer--a
&l gUT B

ON ™ | A )
E RE VE '

E E
, ‘] s L3 £
(A) X (A) X

Q137 Select a suitable figure from the answer
figuresthat would replace the guestion mark.

ON TH Fi >
E RE VE E

-1

-

SE " SE

VE

B | VE ( ®)\ <
N N o

| FO FO

(C) UR () URrR

TE

TE (D) N
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Q138 Select a suitable figurc from the Answer

Q139

Figures that would replace the question
mark.

9 A

The first two figures in the given Prob
Set bear a relationship. Select that figu..
from the Answer Set which bears the same
relationship to the third figure ir the Problem
Set as the second one bears to the first in
the Problem Set.

Problem Set:
AOIOT
|
1 2 3 4
Answer Set:
A B c P
(A) A (B) B
€ C (D) D

QI38 7" & WM W A a1 Suga fiaeq—frs
&I T FY |

e fE-de 4 uomy =Y fam
suv H R 8| R fam g 9w
&E a1 9 ¥ S e Ye B W
fra @ g o)y & o= 2 g
YR ¥ g 9e &7 g R ved R R
T 8 |

AT fiE—ae

1 ! ] 4
iy -

A B c +]
(A) A (B) B
© C (D) D
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Q140 Select a suitable fignre from the Answer

Q141

Figures that would replace the question

mark.

The first two figures in the Problem Figure
bear a relationship. Select the figure from
the Answer Figure which bears the same
relationship to the third Problem Figure as
the second bears to the first Problem Figure.
Problem Figure:

 REETE

1 2

]
-

Flleliells

(B) Figure B

(A) Figure A

Latest Sarkari Jobs, Govt Exam Results,

0140

¢ ch RPIT UY ST TIC DMYUN T A
BT WA B

(A)

(C)

Q141 o3 @ s fE-de d wem A1 R
anmer 1 v €) SR s W A4 | 9
Bra #7 T B O TR ¥E B R
P @ 3 o yoRr ¥ wwln 8 e
R R A GMAEER SRR
yrafed B '
'ﬂﬁ?ﬂﬁﬁ'--ﬁ?:

W/ 1)

a2

1 T3 s 4
T e

~lelie]lg]

A B c D
Ay B A (B) faan
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Q2

Q143

Read the statements and identify the logically
correct conclusion from the given
information.

Statements:

“The beginning of heath is sleep™ — written
on @ hospital wall

Conclusion:

[) Ifone sleeps, all his diseases get cured.
11} Sleep is the medicine for all thediseases.
(A) Onlyconclusion| follows

(B) Onlyconclusion Il follows

(C) Either conclusion I or Il follows

(D) Neither conclusion I nor I follows

Consider the statements to be true even if
they seem to be at variance from comm
known facts. Decide which of the g
concfusions logically follows from the two
given statements, disregarding commonly
known facts.

Statements:

Some crows are lions.

All lions are panthers,

Conclusions:

I.  Some crows are panthers.

2. No lion is a crow.

(A) Only conclusion I follows

(B) Only conclusion 11 follows

(C) Neither conclusion | nor Il follows

(D) Both, conclusions I and 11 follow

QI42 = T TuT T FEATT N SR G o]

B g @ W difches T A e o

e &8

COUER

R il YEIIRT g A S & —sRare

a1 QA Yx [oRal BT Va7 |

frerd -

I afe ®ig dian 8, o S4d Wi 97 da
Bl W B e

1L =g & At & gan &)

(A) fa® | Osud & |

(B) Rre 11w 7|

(C) ardariar 1l wewa 21

O TAAMIIRTE 77— =

9= BB FoT 0T S=w /T v ) RS
i ol W A (36D qlavfg 6 S
Wﬂﬁﬁﬂ).ﬁ?ﬁﬁ?ﬁr

T X AR g8 qaw [F B | e

afb® 3y PAf¥ag wu & 2o € v===

2l

T

H{O TR &

o SR E

frepy

. B Fa 9 £

Il @ ¥ IR Brar T8 2

(A) faw fFspd | 87T 2|

(B) frre frssd 11 9 &)
(C) 51 a1 [ 3¢ = 81 1l Aend &1
(D) |atR 11 R & wewa &)
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Q144 Consider the statements to be true even if

0145

Q146

they seem to be at variance from common Iy

known facts. Decide which of the aiven

conclusions logically follows from the

statements.

Statements:

1) Most teachers are boys.

2) Some boys are students.

Conclusions:

1) Some students are boys.

(1) Some teachers are students.

(A) Only conclusion] follows

(B) Only conclusionll follows

(C) Both, conclusions | and 11 follow

(D) Neither conclusions | nor Il follows

Select the option that isrelated to th

term in the same way as the first

related to the second term.

7:50:

(A) 5
(B) 10
©) 1
(D) 38

Select the option that is releted 10 the third

?7:101

term in the same way as the second term is

related to the first term.
258: 80 ::360: 9

(A) 162

(B 18
(€) 90
(D) 54
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Ql44 #ra @p B AR Frepd Ry g §1FY

e ot Y TR HR (99 qNS 7B A
A Ted udia 8, el et &
sz ¥ AR FE gand s e e
A i Afrew w0 F FuAl § A
H

HYA e

L)

5 B |
aguaﬁm%l
fyopy
| @ 9E q9D 8|

L. @ Ree ors ¥

(ﬁ)fﬁtﬁﬁr&rﬁlwﬁil
(B) fow sy 11 Fedd €|

(C) 13fR 11 it & W 8|
(D) qrar 1@ A © 1 aEEd B

[ @ 9de N ST e 9w A 9
Y wdfre § 5 a¥E W sl UG T
g 4 deftT 2
7:50:7:101
(A) 5
(B) 10
() 11

@33

Q146 v Pibey a1 aaT IR St I ge | 3|

e O A & R e @ gERr 79 e
Te F Haldd |
258:80::369: "

(B) 18
(C) 90
(D) 54




47

(48

149

1150

[
What will come in place of the blank = =¢ Q147 PrefeRan wm 3 Re = @1 off 3¢

series? 1\/%‘5\% 63, . 143,

3,15,35,63, 143, (A) 89
(A) 89 (B) 78

B) 78 () 99

() 99 Dy 121

(D) 121

Find the next letter in the series: ' Q148 AT & 3 3T e & w9 B
@.Y B L%YNT

A) Q (A) Q

B) R (B) R

C) s (C) 8

D) A D) A

=Ngaa e ~

Identify the number that follows the series T wE R e we o) ugdie

2,5 1017,

(.'G\JDIR'(1 \ —r e s

(3) 28 hiw

(€ 27 ) (B) 28

(D) 29 (©) 27 )
(D) 29

Insert the correct option in the blank below: Q150 F=foiRad Raa i+ 4 a8 Ras ufe

ALESKII,____ €29 R
(A) 817 ALES.KIl,____ ,C29
(B) S19 \ (A) $17
(C) MI3 e s
(D) M17 (€) M3
' (D) M17
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